
BINARY ARITHMETIC MC WORKSHEET SERIES B-51

1. What is the sum of 11001112 + 100000112? 

A. 111010102
B. 3538
C. E916
D. EB16
E. NO CORRECT ANSWER 



2. What is the sum of 111111112 + 1000101012? 

A. 10000101002
B. 10238
C. 10258
D. 53410
E. NO CORRECT ANSWER 



3. What is the sum of 10101002 + 1001010102? 

A. 1011111012
B. 5778
C. 5758
D. 38210
E. NO CORRECT ANSWER 



4. What is the difference of 1001010002 + 110011002? 

A. 10111002
B. 1338
C. 1358
D. 5B16
E. NO CORRECT ANSWER 

BITWISE XOR WORKSHEET SERIES B-51

1. What is the output of the following code?


int x = 71;


int y = 65;


System.out.println( x ^ y );

A. 6

B. 66

C. 35

D. 0

E. Answer not here

2. What is the output of the following code?


int x = 92;


int y = 94;


System.out.println( x ^ y );

A. 89

B. 94

C. 2

D. 95

E. Answer not here

3. What is the output of the following code?


int x = 62;


int y = 56;


System.out.println( x ^ y );

A. 6

B. 56

C. 31

D. 28

E. Answer not here
MATRICES WORKSHEET SERIES B-151

1. What is the output of the following code?


 int numbers[][]=new int[2][4];


 int start = 11;


 for (int a = 0; a<2; a++)


 for(int b = 0; b <4; b++)



 {



 numbers[a][b]= start; 



 start++;



 } 


 System.out.println(numbers[1][1] % numbers[0][1]);

2. What is the output of the following code?


 int numbers[][]=new int[2][2]


 int start = 104;


 for (int a = 2; a > 0; a--)


 for(int b = 2; b > 0; b--)



 {


 numbers[b][a]=start; 


 start-=b;


 } 


 System.out.println(numbers[1][0] % numbers[0][1]);

3. What is the output of the following code?


 int numbers[][]=new int[2][5];


 for (int a = 0; a<2; a++)


 for(int b = 0; b <5; b++)



 {



 numbers[a][b]= a * b ; 



 } 


 System.out.println(numbers[0][2]);

HEX MATH  MC WORKSHEET SERIES KEY B-51
1. A
2. A
3. D
4. A

BITWISE XOR   WORKSHEET KEY   SERIES B-51

1. A

2. C

3. A
MATRICES WORKSHEET  SERIES B-151 KEY

1. 4

2. 0

3. 10
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